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= 23,330 28,205 24,875
= 45,986 46,134 A 148
Al 8,001,043 7,358,050 642,993
ZQANM MUX S2(UBNIIHT/LHE) 3,966,556 3,451,216 515,340
NBER 3,966,556 3,451,216 515,340
NEER 3,848,556 3,378,816 469,740
201 L2yl 3,692,536 3,222,796 469,740
01 Ak 2relt| 3,618,130 3,148,390 469,740
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15,1002 * 1,000 15,100 0 15,100
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50,000,0008 * 24 100,000 0 100,000
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23 400,000, 0002 400,000 200,000 200,000
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12 J1EH2 &3 18,000 6,000 12,000
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10,0008 * 308 * 33l 900 0 900
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- 2LUH 300,000 * 50CH 15,000 0 15,000
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Al 0 3,413 A3,413
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Al 3,066 0 3,066
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